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Math 9 Enriched: Section 8.2 Introduction to Function Notations

1. Indicate which of the following graphs are functions.

b)




. Given the functions, f (X) =3x*—2X and ¢ (X) =

X
—3?+3, find the indicated values:

i) f(3)xg(4) i) 2f (-2)-3g(2)

iii) 4 (2)xg(-3)

. Given the functions, f (X) = \/;+3 and @ (X) =2x%—1, find the indicated values:

) fg(x) "ot (x)
v f (g (3)) v) g ( f (18))
i 11 () i o[ (1 (25)

i) g(f(g(x)))

vi) g(f(g(S)))

x) (g(f(50)))

O If f (X) =x%+3x—10, find the value of “x” that will make the expression true:

i) f(X)zO v) f(X)=8

. Given the graph of f (X), find the indicated values:

vi) f (X) =-6
iy f(2)= i) (1) =
iii) f (4) = v)f(?)=3
vi) f (—4)x f (3)



6. If f (X) =x?=X+2, g (X) =ax+b,and f (g (X)) =9x? —3x+2, determine all possible ordered pairs
(a,b) which satisfy this relationship.

7. If f(x)=2x-1, determine all real values of “x” such that ( f (X))2 -3f(x)+2=0

8. Afunction f (X) has the following three properties:
i) f(1)=1, i) f(2x)=4f(x)+6, i) f(x+2)="f(x)+12x+12

Calculate the value of f (6) )

9. Given an example of a function ¢ (X) such that the identity below is true for all values of “x” and “y”

g(x+y)=9(x)+g(y)

10. Given the graph of f (X), find the value of the following values:

i)f(f(3))= i) f (f(0))=

i) f (~1) v) f(=7)x f (0)

WE)=x x=2 W I(f(f(-2))




11. Let f (X) = K +9, where “k” is a real number. If f (3): f (6) =1:3, determine the vale of

f(9)-f(3).

12. The function f (X) has the property that f (2X+3) =2f (X)+3 for all values of “x”. If f (O) =6, whatis
?

the value of f (9)

13. Let ¢(X) denote the sum of the digits of the positive integer “x” . For example, ¢(8) =8 and

¢(123) =1+2+3. For how many two digit value of “x” is ¢(¢(x)) =37
a) 3 b) 4 c)6 d 9 €10

14. For any three real numbers “a”, “b”, and “c”, with b # C, the operation @ is defined by:

w(a,b,c)=b;ic. What is the value of @ (@ (1,2,3),@(2,3,1),@(3,1,2))>

15. In Circle Land, the numbers 207 and 4520 are shown in the following way . What number is represented by
the following diagram on the right?




